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X 0L 88,000 88,000
402 2I2EX=201H 88,000 88,000
01 QI XHZ AL E R (KEHITH) 88,000 88,000
OSzE= 0lgQa N
800, 000& x220hax50% 88,000
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SN SYEH
ZH: SRREINH L SHASEIH
ol NAS3R2 854 U ALK (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
0T Sl E A2 () 12,500 112,500 0
OTOIDY DEX AL M TRIA
50,000, 000& *4. 5ha*50% 112,500
A0 2, BHX X2 260,000 260,000
402 2IZtA=01A 260,000 260,000
01 QI XHE AL E R (KM TH) 260,000 260,000
OAIE 20l 2K, BRI XISHALS
2,500 260,000 m" *40% 260,000
S3tE= ot#J| dabgt 24 X 20,000 40,000 /20,000
402 QI2F X201 & 20,000 40,000 /20,000
01 QI X2 AL E A (KHMITHE) 20,000 40,000 A20,000
OS32E= ot&J] dagh gAY
13,638.8% %2, 444na*60% 20,000
SOt NP AQEE HAl X4 347,000 0 347,000
= 243,000
S 31,000
= 73,000
401 AlZHIZ SO 347,000 0 347,000
= 243,000
[ 31,000
Ea 73,000
01 Al&HI 347,000 0 347,000
OQHIR ADIER JIgt =4
347,000,000 x 14 347,000
= 243,000
< 31,000
[Ea 73,000
NSE S=Hlcl Ma XA 100,000 0 100,000
402 QI”F X201 & 100,000 100,000
01 QI X2 AL E A (KEHITHR) 100,000 100,000
OLZE ==ticl HaX2 A
20,000,000 *10ha*50% 100,000
D==dE SO A2A 72,000 0 72,000
402 212+ X201 & 72,000 72,000
01 BRI S A S E X (XM THR) 72,000 72,000
Ol=dS HHII X2AL
45,000,000 =4 CH*40% 72,000
HAAIoH X HEXH 80,000 80,000
402 QI2E X201 & 80,000 80,000
01 QIZEXHE2 AL 2 (REHITH ) 80,000 80,000
Oc &l &Al A& K&
10,200, 0002 *15.6861ha*50% 80,000
st 280 N2 96,000 60,000 36,000
402 2IZtA=01d 96,000 60,000 36,000




SN SYEH
B SUDTNM U SIASED
ol NAS3R2 854 U ALK (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 QI X2 AL E A (KEMITHE) 96,000 60,000 36,000
OM2MZLD XI& AL (38)
6,000, 0002 x255 *40% 60,000
ONSXED XIS AR(10Z)
24,000, 0002 *3S*50f% 36,000
sEdd" Hal 2,685,628 1,809,485 876,143
= 232,800
) 984,720
= 201,174
= 1,266,934
NesHeyst 6.240 6.240 0
202 04l 6.240 6.240
01 2o 6,240 6,240
Oll=ASE ADER(EN)
130,000 x4 x 122 6,240
SEAS(HA) ALtz 77,500 0 77,500
Il 31,000
o 46,500
402 212+ X201 & 77,500 0 77,500
7l 31,000
= 46,500
02 QIZHHZ AL E X (01X THE) 77,500 0 77,500
OSEXNS(HA) ALSUs Al
155,000, 0002 141 %50f% 77,500
Jl 31,000
Ea 46,500
SAESIIAH NE 90,000 90,000 0
402 212+ X+=201 & 90,000 90,000
01 RIENSA S E X (XM THR) 90,000 90,000
OFEA=EIIH X
2,500,000 *90CH *40% 90,000
SIASHER 2R 11,800 36,500 A24,700
Il 4,720
== 2,124
o 4,9%
402 2I2E X201 & 11,800 36,500 A24,700
7l 4,720
S 2,124
o 4,9%
02 BIENZASEZ(0IETHR) 11,800 36,500 AN24,700
OsgIIH SHEX R
100,000 »118CH 11,800
Jl 4,720
S 2,124




SN SYEH
M SUDTNM U SIASED
el sEFYE Hal (SH9 H2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
| = 4,956
2R SYIA ZOIHIA XA 45,600 0 45,600
= 22,800
= 4,560
Ea 18,240
301 2N = 45,600 0 45,600
= 22,800
= 4,560
= 18,240
14 DBt 23 45,600 0 45,600
0228 SUIIH ZIIHI N
7,600,000 ~6CH 45,600
= 22,800
= 4,560
= 18,240
=EHAE ditEds KA 201,404 195,000 6,404
= 60,421
i 140,983
301 2N = 201,404 195,000 6,404
== 60,421
[ia 140,983
4 JIEt2 8= 201,404 195,000 6,404
O=EtdE ditdels X3 A
2,000,000 *100.702ha 201,404
= 60,421
= 140,983
fog AHIEL XA 2,000 4,000 /2,000
= 600
o 1,400
307 @20l & 2,000 4,000 A2,000
s 600
s 1,400
02 QIRIHAANGE R 2,000 4,000 22,000
O=Rcl2 AHIEA XA
500,000 x49H 2 2,000
S 600
= 1,400
seE 2RI NEAY 35,000 35,000
402 212t X201 & 35,000 35,000
01 QIENF 2 AL E (XM THR) 35,000 35,000
OsgE S)J1 NEAL
3,500,000 *20CH #50% 35,000
gsHAES(XEHl) 92,900 95,470 2,570
[ 45,270




SN SYEH
M SUDTNM U SIASED
el sg3ds Hat (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 47,630
101 @1A4H| 5,900 6,670 ATT0
=S 1,770
s 4,130
04 JIZtN2Z2XNSE 5,900 6.670 ATT0
Ogr=eixiza geEd
85,910&+6. 2432114 EH 5,900
< 1,770
s 4,130
301 EtE N = 87,000 88,800 21,800
= 43,500
Ea 43,500
14 JIEt2 a3 87,000 88,800 21,800
Ogrsem 23 (XLt)
67,968.75& *1,280ha 87,000
== 43,500
o 43,500
HENE HEH 949,000 73,551 875,449
Il 949,000
301 EetE NS 949,000 73,551 875,449
Il 949,000
14 IIEt2d3 949,000 73,551 875,449
odsd=E MEH 949,000,000 *14] 949,000
) 949,000
sEAXNHEH 22 928,570 836,064 92,506
= 210,000
== 63,000
[Ea 655,570
307 212+01& 928,570 836,064 92,506
= 210,000
=S 63,000
s 655,570
02 QB AANEE R 566,600 475,000 91,600
OsEUESHNE 2SS
80,000,000 *4JH 2 320,000
= 160,000
= 48,000
o 112,000
OZ38 230 HE22MY 2F XA(=
HIZ=Dt 170,000& &)
246,600,000 * 14 2 246,600
= 50,000
= 15,000
o 181,600




SN SYEH
M SUDTNM U SIASED
ohel solAme U3 CERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
05 2ItRIE = 361,970 361,064 906
ORetz sELETJHH 29 X3
361,970,000 * 100 2 361,970
ei=el HEZ2Z T2 Y 2 & 83,997 52,050 31,947
=S 25,199
s 58,798
307 21201 & 83,997 52,050 31,947
== 25,199
[Ea 58,798
02 LB HANHEE 83,997 52,050 31,947
Otti2g= XI&
13,729.92 x585E+50H 40,160
= 12,048
= 28,112
Odaazkt gsg N&
57,0042 +585%H 33,400
s 10,020
s 23,380
OOIELXIE st HE2ZZ A 2ACIHFXA
(StOr2tHalS) 10,437,000 * 14| 10,437
= 3,131
= 7,306
Q=0 HE2ZZX X (RHAALY) 20,000 20,000
201 er2 3| 20,000 20,000
01 AtR2t2|HI 20,000 20,000
O=golzEx| (83 3Hl)
20,000,000 *14! 20,000
=0l HZB2ZA ofiel &8 13,000 13,000 0
201 2egh=3| 3,000 3,000
03 A=l 3,000 3,000
OMOUAZ AL 3,000,000& %12 3,000
202 04l 5,400 5,400
03 =2AF R0 5,400 5,400
2=e HE2ZT B2 =&
1,800,000 x3E*13] 5,400
301 Eet2 NS 4,600 4,600
08 212+l =2 (4| 3,600 3,600
0= HEZZA S==U =&
1,800,000& x2& *13] 3,600
11 dALEEIXIE S 1,000 1,000 0
OMUAMZ AL 1,000,000& 12 1,000
Lot SEIZA JI=sA 2E 2l 128,617 0 128,617
201 er23| 88,417 0 88,417
01 AtR2t2|HI 46,825 0 46,825




SN SYEH
M SUDTNM U SIASED
el sg3ds Hat (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OsgI 2t JIsAL 2l gal=g
2,582,020« 123 30,985
OS2 2 JIsAE g & 6K
1,120,000« 122 13,440
OSYIET %A AIREE 2
200,000 * 122 2,400
02 S5=g4l 41,592 0 41,592
OSY22R JISA S8 U BHIYR 44
=, 266,000 x 122 3,192
OsSYZZ2X JImAF Al 2te] & AR
otd el S 1,650,000~ 128 19,800
OS22X JISA 2% BTRI(45H+
S, &I, ZADA 23 5)
1,550,000& «12& 18,600
405 AHaHE = 40,200 40,200
01 It =S F=H 40,200 40,200
OsgI 24 JIsAt WeE) ¢
40,200,000 * 14 40,200
stas 2dER 15,829,3%4 16,249,012 419,658
Il 11,619,146
= 2,230,840
o 1,979,368
s9 29 oty 4,548 4,040 508
201 er23| 2,250 2,000 250
01 AtR2t2|HI 2,250 2,000 250
OsgMell 2FA =S4
9,000 5 x50 2,250
202 04| 2,298 2,040 258
01 201 2,298 2,040 258
CLEEPER-CES L
95,7503 =2 * 122 2,298
=g SAAEM 11,570,000 10,685,000 885,000
Jl 11,570,000
301 22N 11,570,000 10,685,000 885,000
Jl 11,570,000
14 DBt 2 a3 11,570,000 10,685,000 885,000
oJl2g s4A=N
11,570,000,000& *14] 11,570,000
Il 11,570,000
ASEE ASH(RAAI) 1,063,000 1,053,000
301 EtE2 N = 1,053,000 1,053,000
4Bt 23 1,053,000 1,053,000
OAS=Ed AEH(24])
270,000& %3,900ha 1,053,000
28 SYM=EH el 49,146 51,700 N2,554




SN SYEH
M SUDTNM U SIASED
gelr sitas B8R (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 49,146
101 @1A4H| 35,000 31,000 4,000
Il 35,000
M ORINZZENSE S 35,000 31,000 4,000
OJI2E3ART = (21=24])
85,9102 %37.036Z«11HEH 35,000
) 35,000
201 er23| 11,000 16,000 25,000
Jl 11,000
01 AtR2tc|Hl 11,000 16,000 25,000
OJ |28 3AXE XS H (AtR2el])
1,000,000 «110HSH 11,000
Jl 11,000
202 04| 3,146 4,700 A1,554
Jl 3,146
01 =LHAHI 3,146 4,700 A1,554
OJl=ga3dAEX=M(0E])
20,0002 x152%10.486& 3,146
Jl 3,146
BASEHEXNEN(ZH-0F) 371,000 390,000 219,000
= 371,000
301 22N = 371,000 390,000 219,000
< 371,000
14 0Bt 243 371,000 390,000 219,000
O==isAEH /AL
129,720.279& *2,860ha 371,000
== 371,000
H= 52 5& B O 8 AE(e e 1,431,660 3,056,272 71,828,612
== 1,409,840
o 21,820
101 e124d| 13,425 1,272 2,183
[ 5,370
2 8,055
PELEEI TR 13,425 11,272 2,153
Ois8l Bejagh(el21H))
85,9102 %14.2062«11H S 13,425
= 5,370
o 8,055
201 fet= 3| 16,275 7,000 9,275
s 2,510
s 13,765
01 AtR2tc|Hl 14,475 5,800 8,675
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DA SYTD
M HYRAZH(sLFAL)
Cel: A2 HH|(=F 2L (CHe: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—62 12,8443« 7 +50A 2H+ 123 53,945
—7= 11,6022 x4 +50A1 2+ 123 27,845
—8= 10,4162 x2E +50A1 2t 123 12,500
—9=2 9,860 x3*B0A| 2+ 123 17,748
OX<IH&HI 117,953,000 *3% 3,539
03 SR (RINAHA) 222+ 11,052 10,303 749
OSSR (LYAREXRR) =& 11,052
— AR (175 8)
20,3792 x1H*15A1 2+ 123 3,669
—RY2R2Y(1758)
163,032 1+ 1 164
— A2t =E (145 8)
19, 7762 x 1+ 1BAI1 2 123 3,560
—FLI22FH(14E3)
158,208 1&+1d 159
—AtQ=H (85 S)
18,6142 x 1+ 1BAI 2t 122 3,351
—FL22+2(828)
148,9083 x1&x1 149
Jl=ZHl(s2EE3) 73,970 69,278 4,692
Jl2Ztl(sgd ) 47,758 43,174 4,584
201 fer=2 3| 40,798 36,694 4,104
01 AtR2tc|HI 33,378 29,274 4,104
O&=)| gtz 30,000 *1CH* 122 360
OAIRIDI2ZHI(ZNH) 9,504,000 9,504
OZAHI(Z%) 9,000 x 170 x 122 16,524
OU2R=2(ZN) 200,000 x 122 2,400
OJIEI2ZHI(ZNH) 4,590,000& 4,590
02 s3=gbl 7,420 7,420 0
Oxtgs=U 125,000 1CH* 122 1,500
OXtgr==4&Hl 720,000 2CH 1,440
Oxgesgz 1,000,000 *2CH 2,000
OXS A 150,000 ~2CH 300
oRuYszs 2,530 3870H 980
OxtgrE &I 100,000 *1CH* 122 1,200
202 04l 3,600 3,600
01 2LHoIH 3,600 3,600
O LRFH(SH)
300,000 «1H*12& 3,600
203 =4l 3,360 2,880 480
M FA2S LRSI 3,360 2,880 480
ORAMEZE =4 3,360,000& 3,360
JlE2Zbl(satED=) 26,212 26,104 108
201 2= 12,372 12,264 108




SN SR
B WESAAY| (UMY
chel: D=2 (YR )
RA - I BRA(E) - HRA - BES of vy A
01 AtR2telbl 12,372 12,264
OJIEI2ZHI(ZH) 9,000,000& 9,000
OU2R=2(3N) 200,000 x 122 2,400
OZAlHI(Z%) 9,0002x1&+0ed« 123 gr2
202 044l 4,800 4,800
01 =LHOLI 4,800 4,800
OsAE= ADEF(ZH)
400,000& x1H 12 4,800
203 gR=8| 9,040 9,040
01 V22 HRFa| 3,440 3,440
OJ 228 gR=at] 3,440,000& 3,440
03 AIF=&IH 2= 5,600 5,600
OAIBZ=EH 2L 5,600,000& 5,600




